
Name:_____________________________________ 
Practice Test #4 – Ch. 10 & Beginning Ch. 11 

Intermediate Algebra – M120 
 

Instructions: On the actual exam, all work must be shown in order to receive all points for all questions so 
practice showing all work. Practice boxing your final answer. Any answer that is a fraction must be in lowest 
terms and as mixed number for full credit. Since you can use a 5x8 notecard on the test use your notecard to 
practice or make one based on the problems you got wrong. Happy studying! 
 
1. Graph the functions on the graph provided. Label 3 points on each with ordered pairs. 
a) f(x) = √x 
 
b) g(x) = 1 – √x 
 
 
c) h(x) = √x + 6 
 
d) k(x) = 1/2 √x 
 
 
 
 
 
 
 
 
 
 
 
 
2. Simplify. Don’t approximate.   √432 
 
 
 

 
3. Simplify.  Use only positive exponents. 
a)  -2(xy2)0   b) (2x – 5)2   c) -4(2x2y)5(-3x3y5) 
      (2x – 5)7 

 
 
 
 
 
 
d) 2x-5         e) (x2y3)2(x2y3)3 

 5y-3 

 
 



4. Solve.     √21  +  x  =  3  +  √x 
 
 
 
 
 
 
 
 
 
 
5. Solve.    √2x  –  3  =  x  –  3 
 
 
 
 
 
6. Simplify. Answer in radical form as a final solution.     
a) (289)-1/2      b)  (32)3/4 
 
 
 
 
7. Simplify. Do not approximate. 
a)        3√ -48x16y9   b) 4√x6 • 3√x8   c) 3√x4 
                                  √x 

 
 
 
 
8. Complete the table of values for the function that follows as a translation (represented by x′ or y′) 

of the function f(x) = 2x. Be able to graph too. 
          g(x) =  (1/2)x 

x′	
   x	
   y	
  =	
  f(x)	
  =	
  2x	
  
	
   -­‐1	
   1/2	
  
	
   0	
   1	
  
	
   1	
   2	
  
 
 
9. Complete the table of values for the function that follows as a translation (represented by x′ or y′) 

of the function f(x) = 2x. Be able to graph too. 
          h(x) =  1 + (2)x 

x	
   y	
  =	
  f(x)	
  =	
  2x	
   y′	
  =	
  h(x)	
  =	
  1+	
  (2)x	
  
-­‐1	
   1/2	
   	
  
0	
   1	
   	
  
1	
   2	
   	
  
 
 



10. Complete the table of values for the function that follows as a translation (represented by x′ or y′) 
of the function f(x) = 2x. Be able to graph too. 

          j(x) =  - 2x     
x	
   y	
  =	
  f(x)	
  =	
  2x	
   y′	
  =	
  j(x)	
  =	
  -­‐	
  2x	
  	
  	
  
-­‐1	
   1/2	
   	
  
0	
   1	
   	
  
1	
   2	
   	
  
 
11. Solve the exponential function. Do give positive and negative values if needed and check 

solutions. Round b to 3 decimals if needed.   4b4  =  128 
 
 
 
 
 
 
12. Solve the exponential function. Do give positive and negative values if needed and check 

solutions. Round b to 3 decimals if needed.       b9  =  504 
                          b6 

 
 
 
 
 
 
13. Find an exponential model for the following points. Round b to 3 decimals if needed.  (0, 4)  &  (3, 12) 
 
 
 
 
 
 
 
14. Find an exponential model for the following points. Round b to 3 decimals if needed.   
      (4, 10)  &  (6, 46) 
 
 
 
 
 
15. Find the inverse algebraically.     f(x)  =  1/2(x  +  5)  –  6 
 
 
 
 
16. For the inverse function given in the table, find f(5) 
 
  

x	
   f	
  -­‐1(x)	
  
2	
   3	
  
3	
   4	
  
4	
   5	
  
5	
   6	
  



17. Is the following a function? Is it 1:1? Explain. 
 
 
 
 
 
 
 
 
 
 
 
18. Three functions are given in the table below. Find a possible equation for the set of ordered pairs 

that represents an exponential function – do not find any other equations. Clearly label the 
exponential model you create with the appropriate function name. 

x	
   g(x)	
   h(x)	
   k(x)	
  
0	
   11	
   11	
   5	
  
1	
   5	
   13	
   25	
  
2	
   3	
   15	
   125	
  
3	
   5	
   17	
   625	
  
4	
   11	
   19	
   3125	
  

 
 
 
 
 
 
 
 
 
 
19. The half-life of a radioactive element is 5 years. There are 12 grams of this element present at the 

beginning. Write an exponential function representing the number of grams that will be present t 
years from the beginning. Round b to 3 decimals if needed. 

 
 
 
 
 
20. Change to standard form. 
a) 1.45  x  103    b) 5.4792 x 10-2   
 
 
  



21. Change to scientific notation. Make sure the answer is in the “correct form”. 
a) 104,050,001        b) 0.00007200   
 
 
 
 
 
c)     0.025  x  10-7       d) 205.1  x  102 
 
 
 
 
 
 
 
 
22. Multiply or divide using scientific notation. Do not use standard form to multiply or divide. 

Show work using exponent rules. Make sure your final answer is in “correct” scientific notation. 
a) (1.2  x  10-3 ) (12  x  105)    b)  ( 9  x  105 )   
         ( 3  x  102 )   
 
 
 
 
 
 
23. Find  g(f(x))  when  f(x) = x  +  2  g(x) = 2x2  –  8x  +  9 
 
 
 
 
 
 
 
 
24. Find the inverse {(-1, 5), (5, 7), (12, 11), (24, 15)} 
 
 
 
 
 
25. Draw the inverse for the function shown. 
 Label a few points & label points and graphs. 


